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Arab Republic of Kgypt AL
Ministry of Education
The completion of the basic eduention certifieate
Examination 2015 for our sons nhrond

Geometry Second Term Time : 2 hours
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Answer the f ing questions:-
First question:

choose the correct answer fr m the giv
(1) If the point A belongs to the circle Mwhose length of its diameter = 6om then
MA=.-.em

@3 b) 4 )5 d) 6
(2)In the opposite figure ﬁfT& are two tangents, ,
m(£A) = 60°.If AB = 4cm then the length of CB equal ......cm A< | , /
N j{

a) 3 @4 ¢)4v/3 d) 8
(3) In the cyclic quadrilateral each two opposite angles are .....

a) alternate (\bbsupplementary c) complementary  d) equal
(4)The number of taﬁgents which we can draw them from a point on the circle equal ........
(a)one b)two c)four d)infinite number

(5)The ratio between the measure of the inscribed angle to the measure of the
central angle which subtended to the same arc equals .....

(a)1:2 b)2:1 c)1:1 d)1:3 ( S

(6) In the opposite figure :AB,CD are parallel chords

i A T
m(AC) = 30°thenm(£BED) =...... : _,_}d:
a)10° 5e c)30° d)60° .

Second guestion:
(a) Inthe opposite figure: 5
E,Rare two tangents to the

circle M at B, C respectively .m(£BAM) = 25°Prove that :

e First: AM bisects (£ BMC) :
e second: find with proof m(2BM()
(b) Inthe opposite figure:
E,A_(fare two tangents to the
circle at B, C . m(£4) = 40°¢
find with proof m(£D).
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Third question: / M

a)In the opposite figure: . | /
i\l)isa circl:pﬁ / Z‘gﬁ X is the mid-point of 4B, XM is drawn t0 . N— PP
CDat Y . Prove that Y is the midpoint of CD.

(b)In the opposite figure:

AB,ACare two chords in circle M , D is the mid-point 0
Eis the mid-point of AC, m(£BAC) = 60°

Find with proof m(£DME).

i

fAB,

Fourth question:
(a)in the opposite figure:
ABC is a triangle drawn inside a circle M, MD L BC,
ME 1 AC, prove that:
e First: EDJ AB.
Peri ; = 2 peri f triangle ABC.
¢ Second :Perimeter of triangle CED = : perimeter 0 g

(b)In the opposite figure:
E € 4B, E ¢ 4B, m(AB) = 110°,m(£CBE) = 85°
Find with proof m(£BDC).

Fifth guestion:
(a)Complete with proof. The measure of the angle of tangency equal the measure

Qhpeske do 7§ Chod

(b)In the opposite figure: N
ABCis a triangle drawn inside a circle,
BDisa tangent to the circle at B, A
XY § BD .Prove that :AXYC is a cyclic quad. A
c
(i) g )
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